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1. Answer the fOllowing questions . | .2x4=~8 |
- (a) Define real GDP.
| ®) Deﬁne Producer Price Index (PPI).
(C) What is. ‘demonstration eﬁ‘ectS’

(d) Define the rental/ user cost of capital.

[Turn over




Answer the following questiong : '95,(4:20

(a) Suppose a model is giyep 4 follows :
C = 100 + t08 Y, (Where Yd =Yy_ T)
I=150
G=50

T=20+025Y

Find equilibrium level of incg
and savings.

(b) Explain in brief of the Arthyr g, L
(c) Distinguish between MEC o, d ME
(d) Neutrality of Money.

. Answer any two of the fOHOWing questic;ns:

~ (a) What is meant by withdrawa]g and
How do they affect the size of the circular
flows of income and CXpenditure in an
economy ? | . 4+6=10

injections ?

(b) Explain the consumption functjon puzzle. Is

it improvement over Keynes

' onsumption
function ? Discuss.. ‘ - 743=10
(c) Critically discuss the accelerator theory of
. invest[nent. ’
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e, consumption

10x2=20 .

- (d) What is req| balance éffect ? Explain ‘why

4.  Answer the following questions :

(3

®

‘hationa] welfare ?

Pigou’s effect of real balance effect is also
known as wealth effect.” - o
16x2=32

Explain the product or value added, income

‘and expendityre method of national income

accounting, Dgeg an increase in the size of

nationg] roduct signify an enhancement in
Product signt 84816

Or
Examine the effect of an increase in the

demand f, labour on employment, output,

Wages and price Jevel in the classical model.
8+8=16

Critically explain the permanent income
hypothesis,

Or
Explain the prjedman’s Modern Quantity

Theory of Money.
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